
Automotive Engines 10th

Quiz 1B
MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

1. How might a ring be a safety hazard?
a. It could get caught on a moving part
b. It could become a path for an electrical circuit
c. Both A and B
d. Neither A nor B

1.

2. Technician A says that most non-running vehicles can be pushed into the shop by one person
alone. Technician B says to use an electric pusher when moving a non-running vehicle. Which
technician is correct?

a. Technician A only
b. Technician B only
c. Both technicians A and B
d. Neither technician A nor B

2.

3. Proper working level while standing is ________.
a. at between chest and waist height
b. at knee height
c. above your head
d. None of these

3.

4. Technician A uses three prong electrical cords when possible. Technician B uses double insulated
electrical tools. Which technician is correct?

a. Technician A only
b. Technician B only
c. Both technicians A and B
d. Neither technician A nor B

4.

5. All safety glasses should meet the standards set by ________.
a. ANSI
b. SAE
c. ASE
d. DOT

5.

6. Aisle markings are ________ in color and lead to ________.
a. blue; emergency exits
b. yellow; emergency exits
c. yellow; rest rooms
d. white; safe areas

6.

7. Technician A says that containers for dirty shop rags should be made of metal. Technician B says
that these containers should have a lid that stays closed. Which technician is correct?

a. Technician A only
b. Technician B only
c. Both technicians A and B
d. Neither technician A nor B

7.



8. Which item is usually NOT included in a first aid kit?
a. Eye wash solution
b. Antibiotic cream
c. Fire blanket
d. Bandages

8.

9. Technician A lifts a heavy load using leverage away from his body. Technician B lifts a load
keeping it close to his body. Which technician is correct?

a. Technician A only
b. Technician B only
c. Both technicians A and B
d. Neither technician A nor B

9.

10. Which type fire extinguisher may damage electronic components?
a. Dry chemical
b. CO2
c. Both A and B
d. Neither A nor B

10.
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